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Directions of Test

Test Name Actual MH-CET 2016 Total Questions 200 Total Time 150 Mins
Section Name No. of Questions Marks per Question Negative Marking
Abstract Reasoning 25 1 0
Analytical & Logical Reasoning 75 1 0
Verbal Usage & Reading Comprehension 50 1 0
Quantitative Ability 50 1 0

Section : Abstract Reasoning

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 1

Problem figures

S]]
A)F& B),A—‘ JC)G D)Q E)<>

Explanation:- Observing the folded part we find that the fifth figure is same as first figure so the next figure should be same as
second figure. Hence option 3.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 2

N
14

N B 1ol | of ] e[,

T | | . g J | 2|
Zi T | AN N s |
| %\ | @ {’ N R B A
Explanation:-
Everytime a part of petal is added and the figure turns 45° anticlockwise and new petal part is added on the front while moving
anticlockwise.Hence 2nd option is the next pattern
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DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 3

Problem figures

X

A ¥B)

>><v «
AR

«
D Y

9
K

Explanation:- Observing the pattern we see that the second figure is repeated in the fifth figure so third figure gets repeated in
the next figure which is option 2.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 4

Problem figures

C v T n|C -
1 I}
I N 0 LN

NI cl BT ¢ ofr A DI o B A

l | < ! <

Explanation:- Observing the pendulum going we see that firstly it moves one space at a time in clockwise direction and secondly
it tilts 45°

to the right and then 90° to the left and then becomes straight. Now following the same pattern it should be tilting 90° to the left
which is only in option 5.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 5

QD [D[@[D][DID[D[ DD

A B L= E 1 2 3 4 <

Al B)2 /C)EB D)4 E)5

Explanation:-

The entire fig. Moves 90° cw. Pic C is the water image of pic 2.
The process restarts with a new pic at D.
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DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 6

a o |1 1 o] T T T N o

Al B2 O3 D)4 ES
Explanation:-

Two symbols exchange their positions and the remaining symbol moves CW by one side. From pic 2 to 3, he other two symbols
interchange. Then from pic 3 to 4 the remaining combination of the pair swaps. This pattern continues.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 7

0,0 qEQl00 |nQd [0oa||Qdo |ODe Q4o QO |0 PO

A B C D E 1 2 3 4

YA)1 B)2 O3 D)4 S5

Explanation:-
After the two leftmost symbols swap they both turn 90° ACW, whereas the remaining symbol turns 90 ° CW. The pattern continues
with a new pair in each subsequent move.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 8

Problem fig__ures

A) B[ — v0) ] D) B

1

Explanation:- The square bracket is moving in 90°ACW direction in each step for the first four figures. Now fifth figure onwards
it starts moving in the 90° CW direction. Hence the figure second gets repeated which is only in option 3.

Question No. : 9

In the questions given below which one of the five answer figures on the right should come after the problem figures?

B E [= b - (= =]
OI . .L\.-U D* ,II:I (=] DLJ Il_l .. '
-
[

s,

[+
AU
e Un, U Lo ! = 2 s
U EIDI oy | o U [ . u =]
1 2 3 a

A ¥B) O D F

Explanation:-

In 2nd Fig, The Fig at 2 ends interchange their places & Fig in between follow the reverse order. In next Fig last Fig moves to top &
all other Fig retain same sequence. Once again Fig at 2 ends interchange & sequence follows. If all Fig are on a line then line is
moving 90 degrees forward & backward.
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DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 10

_EIE

Al ¥B)2 O3 D4 BS

G

A0
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o
DY
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{70

[1-1-]
L

w

Explanation:-
Circles on top face increase by 1, on left face follows 2,-3,-2 pattern & front facing face follows the 3, -4, -3

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 11

Problem figures
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Explanation:- Observing the pattern we see that different number of C's get inverted . In the second figure only 1 gets inverted,
then next 2 invert and lastly the remaining 3 invert. The process is repeated in the 4th fgure when again 1 gets inverted so
following the pattern the next 2 should get inverted which happens only in choice 1.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 12
2 ! )| 8| %

u 4@ 1 J D) l %] ) @D
Explanation:-
Figure at the right corner changes to 2 similar figures in the middle, the bottom figure goes to the upper right corner. On this basis,

options A, D and E are eliminated. Out of the remaining 2 options, option C is further eliminated beacuse no figure has to be
repeated in the answer (square is repeated in option 3). Hence, the only remaining option is (B).

Fay

A

R

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 13

w1 T 2l
l"iﬁ’l?lﬂ%’

A)[__' B) .
% T3] %] T[] %

In every figure the leaves move one place ahead of white and black leaves alternatively and a new white leaf is added to the figure
everytime. Also filled element is on the left of empty element in Ist fig and then on the right in lind figure. Now considering all this
logic only option 3 satisfies.
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DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?
Question No. : 14

e Jefa ]
4’A)\ B)\ Q) D)\ E)

Explanation:- The ball gets slided down in a phased manner with every alternate figure it is upside and downside. Now
observing the pattern the ball should be downside to the righthand corner which only happens in option 1.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 15

Problem figures

Oo0Oogl14aagd M O | O |

oo gloOogooo|googoiood
O0Oolooo0oOoogooo|dda

A B) ¥0) D) E) -
| O O 10O O (| | 10 0
O 0O O oog OO0 a Oo0oag OO0 O

Explanation:- Observing the pattern being followed we see that the number of small lines being removed follow the pattern
-2,-3,-2,-4,-2 and so on from figure 2 onwards. Hence the number of lines being removed will be 2 which is only in option 3.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 16

Problem figures
—

Thle= [ | == 41T

A [ o—] Bfe——] o . D)[o——] B o—
a___ ) 4 _

—— X— v X— K

I— — = 0— I —

Explanation:- Checking the pattern we see that firstly the whole figure gets inverted 90° ACW and secondly the symbol on the
extreme right is moved to the extreme left and the middle two symbols in the original figure are exchanged. This is only true in
option A.

DIRECTIONS for the question: Select a figure from the alternatives, which when placed in the blank space of problem figure
would complete the pattern.

Question No. : 17

o o .a;\.."':“c:, oy -~ e tw ] ey S e o 2 PN = [

L= = P 4 s O O o O 2 =0 ocle O a2 02 0O o|=0o

L= R L= o e L A e O oo e == - O
1 2 3 4 5

YA)1 B)2 O3 D)4 B5S

Explanation:-
Circle change to Triangles in an anticlockwise direction. In each box 2 circles get replaced by 2 triangles.



e

(,,;. Eﬂlls Eye Actual MH-CET 2016

thullsaye.com

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 18

Problem figures

&ﬁ%ﬁ?
A) .@% c:)$ D) E)%

Explanation:- The number of petals being added increase by one everytime so the number of petals in the next figure will be 6
which is only in option2.

DIRECTIONS for the question: Select a figure from the alternatives, which when placed in the blank space of problem figure
would complete the pattern.

Question No. : 19

Problem figures

A) B) o D) E)

Explanation:- The number of lines being added increase by one everytime so the number of lines in the next figure will be 3
vertical lines which is only in option 4.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 20

[ C .= oo = | D N LA} e | S D|~ D|<= D|== U

N DO cl|c Ol u - ? D Oo|jg ¢©|=.= (| U €| & p

- A g PN D|D Ny - O [ o | UL o | == OO c
1 2 3 4 5

Al B2 YO3 D4 BS

Explanation:-

In 2nd box last Fig from both sides become 1st Fig & other are pushed down. In 3rd box Fig on left exchange positions with Fig on
right. Once again last Fig from both sides become 1st Fig. so now the next box should contain Fig from both sides exchanging their
places.
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DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 21

Explanation:-
The picture is moving 45° clockwise and the two middle U’s are changing direction one by one so now the answer should have
both U’s facing left i.e. answer is option 3.

DIRECTIONS for question: In the following question, there are two Problem Figures (un-numbered figures) followed by five
Answer Figures (numbered as A, B, C, D & E). There are certain common characteristics/properties between the two Problem
Figures. Select a figure from amongst the Answer Figures which shows similar characteristics/properties as shown by the Problem
Figures.

Question No. : 22

Problem figures
\/ ﬁ:j\
L

A [

B)

—

/|9 ~a
il |

T =] o

Explanation:- Observing the above figures, we see that firstly the image gets inverted 90° CW & now its mirror image s placed.
This is only followed in the option A.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 23

T sclpo € &
¢ "D T ol
______‘___g o =l z
A /B) D] ]
A A A o
5 C = & &« C e | = & C
Explanation:-

The six figures are rotating anticlockwise and a new figure is added instead of middle figure. Hence answer is option 2.
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DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 24

I ] alf o D ¢ Hlo 9

- ; |
A O R O A I A I
Explanation:-

Studying the position of € we check that it is moving one step up and down diagonally so it should be placed in the bottom right
corner and a new figure comes on the lower left hand corner. So, answer is option 5.

DIRECTIONS for the question: In the question given below which one of the answer figures should come after the problem
figures given, if the sequence were continued?

Question No. : 25

Problem figures

- =

=

IR
LN
|

A)

5| (512

Explanation:- Observing the pattern we see that the image in figure | gets inserted in the figure Il which is happening only in
option 2.

_|_
N

Section : Analytical & Logical Reasoning

DIRECTIONS for the question: Below the question are given two statements (A) and (B). The statement may be either
independent causees or may be effects of independent causes or a common cause. One of the statement may be the effect of the
other statement. Read both the statements and decide which of the following answer choice correctly depicts the relationship
between the two statements.

Question No. : 26

Statement I: Banks in Country X have recently decreased the rate of interest on home loans from the present 12 percent to
10.9 percent.
Statement II: Apex Bank of Country X has asked the banks to decrease the base rate, i.e. the minimum rate at which banks
lend, by 2%.

A) Both the statements (I) and (II) are the effects of some common cause.
B) Both the statements (I) and (II) are independent causes.
C) Both the statements (I) and (II) are effects of independent causes.
\/D) Statement (I) is the cause and Statement (Il) is the effect. E) Statement (Il) is the cause and Statement (I) is its effect.

Explanation:- If a country has decreased its interest rate, banks will lower down the bank rate, so | is the cause and Il is its effect.
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 27

Seven friends H, I, J, K, L, M and N are seated in a straight line, but not necessarily in the same order. Some of them are facing
north while some are facing south.

K sits third to the left of I. Neither I nor K sits at any of the extreme ends of the line.

Only three people sit between K and M. J sits second to the right of M.

H sits to the immediate left of N. N who faces south is not an immediate neighbour of K.

Both the immediate neighbours of L face south.

Both the immediate neighbours of K face a direction opposite to N (i.e. if N faces north then both the immediate neighbours of
K face south and vice-versa.

What is the position of N with respect to K?

A) Fourth to the left  B) Fourth to the right C) Second to the left /D) Second to the right  E) Third to the right

Explanation:- The correct order and their direction is

N H K L ! | M
1 T 1 T 1 T 1

The position of N with respect to K is second to the right.
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 28

Seven friends H, I, J, K, L, M and N are seated in a straight line, but not necessarily in the same order. Some of them are facing
north while some are facing south.

K sits third to the left of I. Neither I nor K sits at any of the extreme ends of the line.

Only three people sit between K and M. J sits second to the right of M.

H sits to the immediate left of N. N who faces south is not an immediate neighbour of K.

Both the immediate neighbours of L face south.

Both the immediate neighbours of K face a direction opposite to N (i.e. if N faces north then both the immediate neighbours of
K face south and vice-versa.

Who amongst the following sitting at the extreme end of the line, faces north?

A)H B)J ON D)L ‘/I’E)Noone

Explanation:- The correct order and their direction is

N H K L ! | M
1 T 1 T 1 T 4

Hence no one who s sitting at the extreme end of the line, faces north.
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 29

Seven friends H, I, J, K, L, M and N are seated in a straight line, but not necessarily in the same order. Some of them are facing
north while some are facing south.

K sits third to the left of I. Neither I nor K sits at any of the extreme ends of the line.

Only three people sit between K and M. J sits second to the right of M.

H sits to the immediate left of N. N who faces south is not an immediate neighbour of K.

Both the immediate neighbours of L face south.

Both the immediate neighbours of K face a direction opposite to N (i.e. if N faces north then both the immediate neighbours of
K face south and vice-versa.

Based on the given statement, which of the following is true with respect to L?

A) No one sits to the right of L B) L sits to immediate right of K C) L is one of the immediate neighbours of L
D) None of the given options is true \{E) Only one person sits between L and H

Explanation:- The correct order and their direction is

N H K L J \ M
l T l T l T 1

Hence, only one person sits between L and H is the true statement.



(= BullsEyg Actual MH-CET 2016

DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 30

Seven friends H, I, J, K, L, M and N are seated in a straight line, but not necessarily in the same order. Some of them are facing
north while some are facing south.

K sits third to the left of I. Neither I nor K sits at any of the extreme ends of the line.

Only three people sit between K and M. J sits second to the right of M.

H sits to the immediate left of N. N who faces south is not an immediate neighbour of K.

Both the immediate neighbours of L face south.

Both the immediate neighbours of K face a direction opposite to N (i.e. if N faces north then both the immediate neighbours of
K face south and vice-versa.

In which of the following pairs are both the persons facing south?

A)HJ BYNH QOH,L W/D)K,J E)L K

Explanation:- The correct order and their direction is

N H K L J | M
J T J T J T 1

Hence the pair K,J faces south.

DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 31

Seven friends H, I, J, K, L, M and N are seated in a straight line, but not necessarily in the same order. Some of them are facing
north while some are facing south.

K sits third to the left of I. Neither I nor K sits at any of the extreme ends of the line.

Only three people sit between K and M. J sits second to the right of M.

H sits to the immediate left of N. N who faces south is not an immediate neighbour of K.

Both the immediate neighbours of L face south.

Both the immediate neighbours of K face a direction opposite to N (i.e. if N faces north then both the immediate neighbours of
K face south and vice-versa.

Who amongst the following sit exactly between K and I?

ALN BHL OJN DHIJ YBLIJ

Explanation:- The correct order and their direction is

N H K L J | M
1 T I} T L T {

Hence L & J sit exactly between K and |.
DIRECTION for the question: Read the information given and answer the question that follows.

Question No. : 32

High Court of State X has decided to ban an international entrepreneurial programme which was rescheduled to be launched
by the State Government near sea shore of the state. Which of the following statements does not weaken the decision taken by
the High Court of State X?

A) Scheduling the programme at any other place of the State rather than the sea shore will create a lot of chase for general
public due to heavy traffic on roads.

v’é)EntrepreneuriaI programmes require making of dummy structures which are later dismantled thereby causing

environmental problems.

C) The entrepreneurial programme will help State X in attracting foreign investment thereby boosting the economy of the
state.

D) Many small entrepreneurs will benefit from the entrepreneurial programme by learning new skills and understanding
business dimensions.

E) Few national level programmes have been conducted in the past by State X near the sea shore for social causes without
causing problems to residents.

Explanation:- We need to choose an option that would support the decision of the high court, therefore it must talk aginst the
programme.

Option 1 is irrelevant as the statement talks of rescheduling the programe near sea shore and not somewhere else.

Option 3, 4 and 5 are weakening the decision by showing positive impact of the programme.

Option 2 is correct as it discusses the negative impact of such programmes.
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DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 33

Statements: L<M>H>G H>K G>Z

Conclusion: K < M
ConclusionIl: Z < L

47-\) neither I nor II follows  B) only conclusion I follows C) Both Iand Il follows D) eitherI or II follows
E) only conclusion II follows

Explanation:- L <M>H>GH=>K G>Z
M>H> K;
There is not a definate relation between G and L so we cannot set a relation between Z and L

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 34

Statements:P>W >R <T,W>L R>K

ConclusionL: L < T
Conclusion II: W > K

A) neither I nor II follows  B) only conclusion I follows C) both I and II follows /D) either I or II follows
E) only conclusion II follows

Explanation:- P>W>2R< T, W=2LR>K

There is not a set relation W and T so there is no relation between L and T
W > R>K

so W>K so option 4

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 35

Statements: G>H<L<T,R<M<N

Conclusion:R=T
ConclusionIl: T > R

\/A) neither I nor II follows  B) only conclusion I follows C) both I 'and II follows D) either I or II follows
E) only conclusion II follows

Explanation:- G>H<L<T,R<M<N
There is not a relation between R and T
so Option 1

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 36

Statements:P>W >R < T, W2>LR>K

ConclusionI: P > L
ConclusionIl: T < P

A) neither I nor II follows /B) only conclusion I follows C) both I and II follows D) either I or II follows
E) only conclusion II follows

Explanation:- P>W >R<T,W=>L;R>K
P>W=>L

only conclusion I follows

There is not a set relation between P and T
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DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 37

Statements: N > U <R < D; S>J
ConclusionI: J < D
ConclusionIl: D > S

NKA) neither I nor II follows  B) only conclusion I follows C) both I 'and II follows D) either I or II follows
E) only conclusion II follows

Explanation:- N > U <R <D;S>J
There is not a set relation between J and D, and D and S

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 38

Statements: L<M>H>G H>K G>Z

ConclusionI: K >G
ConclusionIl: L< G

\/A) neither I nor II follows  B) only conclusion I follows C) Both Iand Il follows D) either I or II follows
E) only conclusion II follows

Explanation:- L<M>H>GH=>2K G>Z
There is not a set relation between K and G, and G and L

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 39

Statements: H> U <R <D;R<S;J<U
ConclusionI: H > )
ConclusionIl: ) < S

A) neither I nor Il follows  B) only conclusion I follows /C) both I and II follows D) eitherI or II follows
E) only conclusion II follows

Explanation:- H>U<R<D;R<SJ<sU
H > U> J so conclusion 1 follows
J<U < R < S so conclusion 2 also follows

DIRECTION for the question: Read the information given and answer the question that follows.

Question No. : 40

The question consists of an information and two statements numbered I and II given below it. You have to decide which of the
given statements weaken/s or strengthen/s the information and decide the appropriate answer.

Information: The government of state D is contemplating the inclusion of practical learning as a part of curriculum for students
studying in the arts stream, which will have 50% weightage in marks.

I. The understanding of practical learning in arts streams could be very subjective and as a result the scoring will change
depending on the views of the evaluator.

II. For many subjects in the arts stream it is very difficult to design the curriculum for practical learning and most teachers
disagree about what should be included as a part of the curriculum.

/A) Both Statement I and Statement II weaken the information.

B) Both Statement I and Statement II are neutral statements.

C) Statement I strengthen the information while statement II weakens the information.
D) Statement I weakens the information while Statement II strengthens the information.
E) Both Statement I and Statement II strengthen the information.

Explanation:- Option 1 and 2 weaken the decision as in opyion 1 if the scoring will change depending on the views of the
evaluator, it will be unfair to students as some might get good marks and some might get lower marks for same answer.
In option 2 the teachers have different views on curriculum which may result in different output efficiency of teachers.
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DIRECTIONS for the question: The questions below has two/three statements followed by two conclusions numbered | and II.
You have to take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

Question No. : 41

Statements: Some levels are planets. All planets are distances. No distance is a size.
Conclusion I All sizes being planets is a possibility.
Conclusion II: No level is a size.

A) either conclusion I or Ilis true  B) only conclusion Il is true  C) only conclusion I is true
/D) neither conclusion I nor Il is true  E) both conclusion I and II are true

- /P\ \D\ .l /’/\ \‘D\n ~
)

NZORNZYAC

Not a definite conclusion. So option 4.

Explanation:-

DIRECTIONS for the question: The questions below has two/three statements followed by two conclusions numbered | and II.
You have to take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

Question No. : 42

Statements: Some sales are targets. No target is a goal.
Conclusion I: Some targets are definitely not sales.
Conclusion II: Some goals are definitely not sales.

A) either conclusion I or Ilis true  B) only conclusion Ilis true  C) only conclusion I is true
/D) neither conclusion I nor Il is true  E) both conclusion I and II are true

,//i‘\/\m_ (,\\ 7
\v/\/ \‘-/’ \Z

Explanation:- —
Not a definite conclusion option 4.

DIRECTIONS for the question: The questions below has two/three statements followed by two conclusions numbered | and II.
You have to take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

Question No. : 43

Statements: No object is a subject. All subjects are topics. All topics are aims.
Conclusion I: Atleast some objects are aims.
Conclusion II: All topics can never be objects.

A) either conclusion I or Il is true *f@) only conclusion Il is true  C) only conclusion I'is true
D) neither conclusion I nor I is true  E) both conclusion I and II are true

Explanation:- T—
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DIRECTIONS for the question: The questions below has two/three statements followed by two conclusions numbered | and II.
You have to take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

Question No. : 44

Statements: All discounts are cuts. Some cuts are rebates. All rebates are prices.
Conclusion I: No rebate is a discount.
Conclusion II: Some rebates are discounts.

{A) either conclusion I or Il is true  B) only conclusion Il is true  C) only conclusion L is true
D) neither conclusion I nor Il is true  E) both conclusion I and II are true

Explanation:- } —

DIRECTIONS for the question: The questions below has two/three statements followed by two conclusions numbered | and II.
You have to take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

Question No. : 45

Statements: Some levels are planes. All planes are distances. No distance is a size.
Conclusion I: Some distances are levels.
Conclusion II: All distances are levels.

A) either conclusion I or1lis true B) only conclusion Il is true *(EZ) only conclusion I is true
D) neither conclusion I norIlis true E) both conclusion I and II are true

Ll.*\\f’\\ A AT
\\\Y— &, \ \}3/ " \_/

|'

Explanation:-

DIRECTIONS for the question: The questions below has two/three statements followed by two conclusions numbered | and II.
You have to take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

Question No. : 46

Statements: No object is a subject. All subjects are topics. All topics are aims.
Conclusion I: All subjects are aims.
Conclusion II: All objects being topics is a possibility.

A) either conclusionIorIlis true B) oy conclusion Il is true  C) only conclusion I is true
D) neither conclusion I nor II is true E) both conclusion I and II are true

Explanation:- _— -
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DIRECTIONS for the question: The questions below has two/three statements followed by two conclusions numbered | and II.
You have to take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follow from the given statements disregarding commonly
known facts.

Question No. : 47

Statements: All discounts are cuts. Some cuts are rebates. All rebates are prices.
Conclusion I: Atleast some cuts are prices.
Conclusion II: No discount is a price.

A) either conclusion I or Ilis true  B) only conclusion Il is true ~/C) only conclusion I is true
D) neither conclusion I nor I is true  E) both conclusion I and II are true

Explanation:- . .
Answer is 1¢ option.

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 48

If G is the son of H, H is the daughter of T, B is the brother of T and P is married to H, then which of the following statements is
definitely true?

\/A) P is the father of G B) H is the daughter of B C) G is the only child of his parents D) T has no sister
E) T is the mother-in-law of P.

T B*
+ male
— female
H P — bz, &'s, b'b

‘ =H-W

Explanation:-  ©’
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DIRECTIONS for the question: Study the following information carefully and answer the question.

Question No. : 49

When a word and number arrangement machine is given an input line of words and numbers, it arranges them following a
particular rule. The following is an illustration of input and rearrangement. (All the numbers are two digit numbers.)

Input: metal 54 title 97 25 vision quest 68 fierce 39 battle 81

Step L vision metal 54 title 97 quest 68 fierce 39 battle 81 25

Step II: 39 vision metal 54 97 quest 68 fierce battle 81 25 title

Step III: quest 39 vision metal 97 68 fierce battle 81 25 title 54

Step IV: 68 quest 39 vision 97 fierce battle 81 25 title 54 metal

Step V: fierce 68 quest 39 vision 97 battle 25 title 54 metal 81

Step VI 97 fierce 68 quest 39 vision 25 title 54 metal 81 battle

Step VIis the last step of the above arrangement as the intended arrangement is obtained. As per the rules followed in the
given steps, find out the appropriate steps for the given input.

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Which elements will appear exactly between the fifth element from the left and the sixth element from the right in step III of the
given input?

A) Both '51' and 'caught'  B) Only 'fault’ C) Both ‘76'and 'death’ ¥D) Only 'caught E) Only '51"

Explanation:- In the step I, the last word according to the dictionary is placed at the first position and the smallest number is
placed in the end. In the second step, the second smallest number is placed in the start and the second largest word according to
dictionary is placed in the end. This pattern is followed in the subsequent steps. Based on it, the steps for the given arrangement
are as follows:

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Step I: till 63 45 fault caught imprison 76 51 hang 27 death 13

Step II: 27 till 63 45 fault caught 76 51 hang death 13 imprison

Step Ill: hang 27 till 63 fault caught 76 51 death 13 imprison 45

Step IV: 51 hang 27 till 63 caught 76 death 13 imprison 45 fault

Step V: death 51 hang 27 till caught 76 13 imprison 45 fault 63

Step VI: 76 death 51 hang 27 till 13 imprison 45 fault 63 caught

Element which will appear exactly between the fifth element from the left(fault) and the sixth element from the right (76) in step Ill
is 'caught'
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DIRECTIONS for the question: Study the following information carefully and answer the question.

Question No. : 50

When a word and number arrangement machine is given an input line of words and numbers, it arranges them following a
particular rule. The following is an illustration of input and rearrangement. (All the numbers are two digit numbers.)

Input: metal 54 title 97 25 vision quest 68 fierce 39 battle 81

Step L vision metal 54 title 97 quest 68 fierce 39 battle 81 25

Step II: 39 vision metal 54 97 quest 68 fierce battle 81 25 title

Step III: quest 39 vision metal 97 68 fierce battle 81 25 title 54

Step IV: 68 quest 39 vision 97 fierce battle 81 25 title 54 metal

Step V: fierce 68 quest 39 vision 97 battle 25 title 54 metal 81

Step VI 97 fierce 68 quest 39 vision 25 title 54 metal 81 battle

Step VIis the last step of the above arrangement as the intended arrangement is obtained. As per the rules followed in the
given steps, find out the appropriate steps for the given input.

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Which is the ninth element from the right end in step I of the given input?

A)76 B)till C)fault D)hang ¥E)45

Explanation:- In the step I, the last word according to the dictionary is placed at the first position and the smallest number is
placed in the end. In the second step, the second smallest number is placed in the start and the second largest word according to
dictionary is placed in the end. This pattern is followed in the subsequent steps. Based on it, the steps for the given arrangement
are as follows:

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Step I: till 63 45 fault caught imprison 76 51 hang 27 death 13

Step II: 27 till 63 45 fault caught 76 51 hang death 13 imprison

Step Ill: hang 27 till 63 fault caught 76 51 death 13 imprison 45

Step IV: 51 hang 27 till 63 caught 76 death 13 imprison 45 fault

Step V: death 51 hang 27 till caught 76 13 imprison 45 fault 63

Step VI: 76 death 51 hang 27 till 13 imprison 45 fault 63 caught

'45'is the ninth element from the right end in step Il of the given input?
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DIRECTIONS for the question: Study the following information carefully and answer the question.

Question No. : 51

When a word and number arrangement machine is given an input line of words and numbers, it arranges them following a
particular rule. The following is an illustration of input and rearrangement. (All the numbers are two digit numbers.)

Input: metal 54 title 97 25 vision quest 68 fierce 39 battle 81

Step L vision metal 54 title 97 quest 68 fierce 39 battle 81 25

Step II: 39 vision metal 54 97 quest 68 fierce battle 81 25 title

Step III: quest 39 vision metal 97 68 fierce battle 81 25 title 54

Step IV: 68 quest 39 vision 97 fierce battle 81 25 title 54 metal

Step V: fierce 68 quest 39 vision 97 battle 25 title 54 metal 81

Step VI 97 fierce 68 quest 39 vision 25 title 54 metal 81 battle

Step VIis the last step of the above arrangement as the intended arrangement is obtained. As per the rules followed in the
given steps, find out the appropriate steps for the given input.

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Following a certain pattern, '45' 'caught’ in step I and similarly 'death’ imprison' in step IV. Following the same pattern, '76""
"in step II.

A)27 B)13 Otil D)fault ¥E)hang

Explanation:- In the step I, the last word according to the dictionary is placed at the first position and the smallest number is
placed in the end. In the second step, the second smallest number is placed in the start and the second largest word according to
dictionary is placed in the end. This pattern is followed in the subsequent steps. Based on it, the steps for the given arrangement
are as follows:

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Step I: till 63 45 fault caught imprison 76 51 hang 27 death 13

Step II: 27 till 63 45 fault caught 76 51 hang death 13 imprison

Step Ill: hang 27 till 63 fault caught 76 51 death 13 imprison 45

Step IV: 51 hang 27 till 63 caught 76 death 13 imprison 45 fault

Step V: death 51 hang 27 till caught 76 13 imprison 45 fault 63

Step VI: 76 death 51 hang 27 till 13 imprison 45 fault 63 caught

In the first step, there is a gap of one word/number between '45' and 'caught'. Similarly in step IV, there is a gap of one
word/number between 'death' and 'imprison'. Following the same pattern, in step I, 76 will pair with ‘hang'.
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DIRECTIONS for the question: Study the following information carefully and answer the question.

Question No. : 52

When a word and number arrangement machine is given an input line of words and numbers, it arranges them following a
particular rule. The following is an illustration of input and rearrangement. (All the numbers are two digit numbers.)

Input: metal 54 title 97 25 vision quest 68 fierce 39 battle 81

Step L vision metal 54 title 97 quest 68 fierce 39 battle 81 25

Step II: 39 vision metal 54 97 quest 68 fierce battle 81 25 title

Step III: quest 39 vision metal 97 68 fierce battle 81 25 title 54

Step IV: 68 quest 39 vision 97 fierce battle 81 25 title 54 metal

Step V: fierce 68 quest 39 vision 97 battle 25 title 54 metal 81

Step VI 97 fierce 68 quest 39 vision 25 title 54 metal 81 battle

Step VIis the last step of the above arrangement as the intended arrangement is obtained. As per the rules followed in the
given steps, find out the appropriate steps for the given input.

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

In Step VI, if the digits in all the numbers are reversed, which element will be fourth to the right of the second largest number
thus formed?

\/A) 72 B)hang C)fault D)54 E) other than those given as options

Explanation:- In the step I, the last word according to the dictionary is placed at the first position and the smallest number is
placed in the end. In the second step, the second smallest number is placed in the start and the second largest word according to
dictionary is placed in the end. This pattern is followed in the subsequent steps. Based on it, the steps for the given arrangement
are as follows:

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Step I: till 63 45 fault caught imprison 76 51 hang 27 death 13

Step II: 27 till 63 45 fault caught 76 51 hang death 13 imprison

Step Ill: hang 27 till 63 fault caught 76 51 death 13 imprison 45

Step IV: 51 hang 27 till 63 caught 76 death 13 imprison 45 fault

Step V: death 51 hang 27 till caught 76 13 imprison 45 fault 63

Step VI: 76 death 51 hang 27 till 13 imprison 45 fault 63 caught

If the digits in all the numbers of step VI are reversed, then the step VI will be
Step VI: 67 death 15 hang 72 till 31 imprison 54 fault 36 caught
The second largest number is 67 and the fourth element to the right of 67 is 72.
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DIRECTIONS for the question: Study the following information carefully and answer the question.

Question No. : 53

When a word and number arrangement machine is given an input line of words and numbers, it arranges them following a
particular rule. The following is an illustration of input and rearrangement. (All the numbers are two digit numbers.)

Input: metal 54 title 97 25 vision quest 68 fierce 39 battle 81

Step L vision metal 54 title 97 quest 68 fierce 39 battle 81 25

Step II: 39 vision metal 54 97 quest 68 fierce battle 81 25 title

Step III: quest 39 vision metal 97 68 fierce battle 81 25 title 54

Step IV: 68 quest 39 vision 97 fierce battle 81 25 title 54 metal

Step V: fierce 68 quest 39 vision 97 battle 25 title 54 metal 81

Step VI 97 fierce 68 quest 39 vision 25 title 54 metal 81 battle

Step VIis the last step of the above arrangement as the intended arrangement is obtained. As per the rules followed in the
given steps, find out the appropriate steps for the given input.

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death
In which steps of the given input does '76' appear to the left of ‘caught'?

A) Only Step IV B) Both Step Vand VI  C) Both Step IV and Step V. D) Only Step III ~/E) Only Step VI

Explanation:- In the step |, the last word according to the dictionary is placed at the first position and the smallest number is
placed in the end. In the second step, the second smallest number is placed in the start and the second largest word according to
dictionary is placed in the end. This pattern is followed in the subsequent steps. Based on it, the steps for the given arrangement
are as follows:

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Step I: till 63 45 fault caught imprison 76 51 hang 27 death 13

Step II: 27 till 63 45 fault caught 76 51 hang death 13 imprison

Step Ill: hang 27 till 63 fault caught 76 51 death 13 imprison 45

Step IV: 51 hang 27 till 63 caught 76 death 13 imprison 45 fault

Step V: death 51 hang 27 till caught 76 13 imprison 45 fault 63

Step VI: 76 death 51 hang 27 till 13 imprison 45 fault 63 caught

Hence only in step VI, the 76 is to the left of caught.
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DIRECTIONS for the question: Study the following information carefully and answer the question.

Question No. : 54

When a word and number arrangement machine is given an input line of words and numbers, it arranges them following a
particular rule. The following is an illustration of input and rearrangement. (All the numbers are two digit numbers.)

Input: metal 54 title 97 25 vision quest 68 fierce 39 battle 81

Step L vision metal 54 title 97 quest 68 fierce 39 battle 81 25

Step II: 39 vision metal 54 97 quest 68 fierce battle 81 25 title

Step III: quest 39 vision metal 97 68 fierce battle 81 25 title 54

Step IV: 68 quest 39 vision 97 fierce battle 81 25 title 54 metal

Step V: fierce 68 quest 39 vision 97 battle 25 title 54 metal 81

Step VI 97 fierce 68 quest 39 vision 25 title 54 metal 81 battle

Step VIis the last step of the above arrangement as the intended arrangement is obtained. As per the rules followed in the
given steps, find out the appropriate steps for the given input.

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death
How many elements will appear between '63' and 'death’ in Step IV of the given input?

{A) Two B)Three C)One D)None E) More than three

Explanation:- In the step |, the last word according to the dictionary is placed at the first position and the smallest number is
placed in the end. In the second step, the second smallest number is placed in the start and the second largest word according to
dictionary is placed in the end. This pattern is followed in the subsequent steps. Based on it, the steps for the given arrangement
are as follows:

Input: 63 45 fault 13 caught imprison 76 51 till hang 27 death

Step I: till 63 45 fault caught imprison 76 51 hang 27 death 13

Step II: 27 till 63 45 fault caught 76 51 hang death 13 imprison

Step Ill: hang 27 till 63 fault caught 76 51 death 13 imprison 45

Step IV: 51 hang 27 till 63 caught 76 death 13 imprison 45 fault

Step V: death 51 hang 27 till caught 76 13 imprison 45 fault 63

Step VI: 76 death 51 hang 27 till 13 imprison 45 fault 63 caught

There are two elements between '63"' and 'death' in Step IV.
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 55

Eight persons J, K, L, M, N, O, P and Q all belonging to the same family are sitting around a circular table, facing the centre (with
equal distance between each other but not necessarily in the same order.)

O sits second to the left of his wife. Both the immediate neighbours of O are males.

J, the wife of M sits third to the left of P. P is the daughter of Q.

Only one person sits between J and P's sister.

Only three people sit between L and N. One of the immediate neighbours of L is married to L

K is not an immediate neighbour of O.

P's only child is an immediate neighbour of P.

Only two people sit between N and one of N's parents.

Who among the following is N's mother?

\/A) L B)P OK D)J E)Cannotbe determined

From the given information, we can make the following diagram.

K

V" \ Q rE-l}..—O (+)

/ \ R
f \ Pi-) L(-) K (+)

P I|I I|| Q | |

4 / N(+)

‘\ / Mi+) 1) (

M>~_ N

O Here (+) means male and (-) means female.

Explanation:-

Hence L is N's mother
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 56

Eight persons J, K, L, M, N, O, P and Q all belonging to the same family are sitting around a circular table, facing the centre (with
equal distance between each other but not necessarily in the same order.)

O sits second to the left of his wife. Both the immediate neighbours of O are males.

J, the wife of M sits third to the left of P. P is the daughter of Q.

Only one person sits between J and P's sister.

Only three people sit between L and N. One of the immediate neighbours of L is married to L

K is not an immediate neighbour of O.

P's only child is an immediate neighbour of P.

Only two people sit between N and one of N's parents.

Who sits exactly between O and Q, when counted from the left of Q?

AL BP ~/C) M's cousin  D)J E)O's grandmother

From the given information, we can make the following diagram.

K

V" \ OFE.'E__—D (+)

/ \ |
|'I III Pi-) Li-) K(+)

P I|I I|| O | |

\ / Ni+)

“\ / M(+) 1) (

M ™~ "N

0 Here (+) means male and (-) means female.

Explanation:-
N sits between O and Q who is M's cousin.



(.Af— Eﬂlls E_y%‘" Actual MH-CET 2016

thullsaye.co

DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 57

Eight persons J, K, L, M, N, O, P and Q all belonging to the same family are sitting around a circular table, facing the centre (with
equal distance between each other but not necessarily in the same order.)

O sits second to the left of his wife. Both the immediate neighbours of O are males.

J, the wife of M sits third to the left of P. P is the daughter of Q.

Only one person sits between J and P's sister.

Only three people sit between L and N. One of the immediate neighbours of L is married to L

K is not an immediate neighbour of O.

P's only child is an immediate neighbour of P.

Only two people sit between N and one of N's parents.

Four of the following five are alike in a certain way based on the given arrangement and hence form a group. Which one does
not belong to the group?

AK YBL OM DN EO

From the given information, we can make the following diagram.

K

/" \ Qrg_-i_il] (+)

/ \ LT
f \ P Li-) K(+)

P I|I I|| Q | |

Y / Ni+)

‘\ / M(+) 1= (

M ™~ "N

O Here (+) means male and (-) means female.

Explanation:-

All except L are males.
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 58

Eight persons J, K, L, M, N, O, P and Q all belonging to the same family are sitting around a circular table, facing the centre (with
equal distance between each other but not necessarily in the same order.)

O sits second to the left of his wife. Both the immediate neighbours of O are males.

J, the wife of M sits third to the left of P. P is the daughter of Q.

Only one person sits between J and P's sister.

Only three people sit between L and N. One of the immediate neighbours of L is married to L

K is not an immediate neighbour of O.

P's only child is an immediate neighbour of P.

Only two people sit between N and one of N's parents.

Which of the following statements is true as per the given information?

A) N and M are immediate neighbours of L ~/I'3) O is the father of P C) None of the given statements is true
D) O sits third to the right of P E) P sits to the immediate right of her daughter.

From the given information, we can make the following diagram.

_K_

/" \ Q r(-l}..iﬁ (+

/ \ | T
f \ P(-) Li-) K(+)

P I|I I|| Q | |

Y / N(+)

“\ / M(+) I(=) (

L "N

0 Here (+) means male and (-) means female.

Explanation:-

O is the father of P.
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 59

Eight persons J, K, L, M, N, O, P and Q all belonging to the same family are sitting around a circular table, facing the centre (with
equal distance between each other but not necessarily in the same order.)

O sits second to the left of his wife. Both the immediate neighbours of O are males.

J, the wife of M sits third to the left of P. P is the daughter of Q.

Only one person sits between J and P's sister.

Only three people sit between L and N. One of the immediate neighbours of L is married to L

K is not an immediate neighbour of O.

P's only child is an immediate neighbour of P.

Only two people sit between N and one of N's parents.

How is K related to the person who is sitting to immediate left of J?

\/A) Son-in-law  B) Grandmother C) Father-in-law D) Nephew E) Aunt

From the given information, we can make the following diagram.

K

V" \ Q rE-l}..—O (+)

/ \ I
f \ Pi-) L(-) K (+)

P I|I I|| Q | |

4 / N(+)

‘\ / Mi+) 1) (

M>~_ N

O Here (+) means male and (-) means female.

Explanation:-
K is the Son-in-law of Q.

DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 60

Eight persons J, K, L, M, N, O, P and Q all belonging to the same family are sitting around a circular table, facing the centre (with
equal distance between each other but not necessarily in the same order.)

O sits second to the left of his wife. Both the immediate neighbours of O are males.

J, the wife of M sits third to the left of P. P is the daughter of Q.

Only one person sits between J and P's sister.

Only three people sit between L and N. One of the immediate neighbours of L is married to L

K is not an immediate neighbour of O.

P's only child is an immediate neighbour of P.

Only two people sit between N and one of N's parents.

Who amongst the following is K's sister-in-law?

AJ YBP OQ DL EN

From the given information, we can make the following diagram.

_K_

/" \ Qrg_-i_il] (+)

! kY | -q--_h---q_"‘
f | P(-) L(-) K (+)

P I|I I|| Q | |

Y / N(+)

“\ / M(+) I(=) (

L "N

0 Here (+) means male and (-) means female.

Explanation:-
P is the sister-in-law of K
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 61

Ten people are sitting in two parallel rows containing five people each, in such a way that there is equal distance between each
adjacent persons. In row-1 J, K, L, M and N are seated and all of them are facing north. In row-2 P, Q, R, S and T are seated and
all of them are facing south. Each of them likes a different fruit namely, Banana, Orange, Guava, Pineapple, Kiwi, Cherry, Mango,
Apple, Strawberry and Litchi but not necessarily in the same order. Therefore, in the given seating arrangement, each member
seated in a row faces another member of the other row and each of them likes a different fruit. (Please Note: All the given
information is not necessarily in the order) R sits second to the left of S. R does not sit at any of the extreme ends of the row.
The one who faces R sits to the immediate left of the one who likes Cherry. Only two people sit between the one who likes
Cherry and the one who likes Mango. The one who faces the one who likes Mango sits third to the right of the one who likes
Apple. Only one person sits between the one who likes apple and the one who likes litchi. The one who faces the one who likes
litchi sits third to the left of N. Only two people sit between N and M. L faces Q. The one who likes orange sits to the immediate
right of Q. The one who likes Strawberry sits second to the left of the one who likes orange. P sits to the immediate left of the
one who likes guava. The one who likes kiwi sits to the immediate right of the one who likes banana. J does not like mango.

Four of the given five are alike in a certain way based on the given arrangement and hence form a group. Which of them does
not belong to that group?

YAJ BS OT DK EN

Explanation:-
Guava Litchi Orange Apple Strawberry
S P R Q T
K M J L N
Mango Banana Kiwi Cherry Pineapple

All except J are at the extreme ends
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 62

Ten people are sitting in two parallel rows containing five people each, in such a way that there is equal distance between each
adjacent persons. In row-1 J, K, L, M and N are seated and all of them are facing north. In row-2 P, Q, R, S and T are seated and
all of them are facing south. Each of them likes a different fruit namely, Banana, Orange, Guava, Pineapple, Kiwi, Cherry, Mango,
Apple, Strawberry and Litchi but not necessarily in the same order. Therefore, in the given seating arrangement, each member
seated in a row faces another member of the other row and each of them likes a different fruit. (Please Note: All the given
information is not necessarily in the order) R sits second to the left of S. R does not sit at any of the extreme ends of the row.
The one who faces R sits to the immediate left of the one who likes Cherry. Only two people sit between the one who likes
Cherry and the one who likes Mango. The one who faces the one who likes Mango sits third to the right of the one who likes
Apple. Only one person sits between the one who likes apple and the one who likes litchi. The one who faces the one who likes
litchi sits third to the left of N. Only two people sit between N and M. L faces Q. The one who likes orange sits to the immediate
right of Q. The one who likes Strawberry sits second to the left of the one who likes orange. P sits to the immediate left of the
one who likes guava. The one who likes kiwi sits to the immediate right of the one who likes banana. J does not like mango.

Who amongst the following is facing K?

A) The one who likes Pineapple ~/B) The one who likes Guava C)R D) P E) The one who likes Kiwi

Explanation:-
Guava Litchi Orange Apple Strawberry
S P R Q T
K M J L N
Mango Banana Kiwi Cherry Pineapple

S, L.e. who likes guava sits opposite K
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 63

Ten people are sitting in two parallel rows containing five people each, in such a way that there is equal distance between each
adjacent persons. In row-1 J, K, L, M and N are seated and all of them are facing north. In row-2 P, Q, R, S and T are seated and
all of them are facing south. Each of them likes a different fruit namely, Banana, Orange, Guava, Pineapple, Kiwi, Cherry, Mango,
Apple, Strawberry and Litchi but not necessarily in the same order. Therefore, in the given seating arrangement, each member
seated in a row faces another member of the other row and each of them likes a different fruit. (Please Note: All the given
information is not necessarily in the order) R sits second to the left of S. R does not sit at any of the extreme ends of the row.
The one who faces R sits to the immediate left of the one who likes Cherry. Only two people sit between the one who likes
Cherry and the one who likes Mango. The one who faces the one who likes Mango sits third to the right of the one who likes
Apple. Only one person sits between the one who likes apple and the one who likes litchi. The one who faces the one who likes
litchi sits third to the left of N. Only two people sit between N and M. L faces Q. The one who likes orange sits to the immediate
right of Q. The one who likes Strawberry sits second to the left of the one who likes orange. P sits to the immediate left of the
one who likes guava. The one who likes kiwi sits to the immediate right of the one who likes banana. J does not like mango.

Who amongst the following is facing T?

\/A) N  B) The one who likes Kiwi  C) The one who likes Mango D) The one who likes Orange E)J

Explanation:-
Guava Litchi Orange Apple Strawberry
S P R Q T
K M J L N
Mango Banana Kiwi Cherry Pineapple
N is facing T

DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 64

Ten people are sitting in two parallel rows containing five people each, in such a way that there is equal distance between each
adjacent persons. In row-1 J, K, L, M and N are seated and all of them are facing north. In row-2 P, Q, R, S and T are seated and
all of them are facing south. Each of them likes a different fruit namely, Banana, Orange, Guava, Pineapple, Kiwi, Cherry, Mango,
Apple, Strawberry and Litchi but not necessarily in the same order. Therefore, in the given seating arrangement, each member
seated in a row faces another member of the other row and each of them likes a different fruit. (Please Note: All the given
information is not necessarily in the order) R sits second to the left of S. R does not sit at any of the extreme ends of the row.
The one who faces R sits to the immediate left of the one who likes Cherry. Only two people sit between the one who likes
Cherry and the one who likes Mango. The one who faces the one who likes Mango sits third to the right of the one who likes
Apple. Only one person sits between the one who likes apple and the one who likes litchi. The one who faces the one who likes
litchi sits third to the left of N. Only two people sit between N and M. L faces Q. The one who likes orange sits to the immediate
right of Q. The one who likes Strawberry sits second to the left of the one who likes orange. P sits to the immediate left of the
one who likes guava. The one who likes kiwi sits to the immediate right of the one who likes banana. J does not like mango.

Which of the following statements is true regarding J?

A) Only two people sit between J and the one who likes Pineapple

B) J sits to the immediate right of the one who likes Cherry  C) None of the given statements is true
¥D) One of J's immediate neighbours faces the one who likes litchi

E) J faces one of the immediate neighbours of the one who likes Strawberry

Explanation:-
Guava Litchi Orange Apple Strawberry
S P R Q T
K M J L N
Mango Banana Kiwi Cherry Pineapple

One of the J's immediate neighbors faces the one who likes litchi.
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 65

Ten people are sitting in two parallel rows containing five people each, in such a way that there is equal distance between each
adjacent persons. In row-1 J, K, L, M and N are seated and all of them are facing north. In row-2 P, Q, R, S and T are seated and
all of them are facing south. Each of them likes a different fruit namely, Banana, Orange, Guava, Pineapple, Kiwi, Cherry, Mango,
Apple, Strawberry and Litchi but not necessarily in the same order. Therefore, in the given seating arrangement, each member
seated in a row faces another member of the other row and each of them likes a different fruit. (Please Note: All the given
information is not necessarily in the order) R sits second to the left of S. R does not sit at any of the extreme ends of the row.
The one who faces R sits to the immediate left of the one who likes Cherry. Only two people sit between the one who likes
Cherry and the one who likes Mango. The one who faces the one who likes Mango sits third to the right of the one who likes
Apple. Only one person sits between the one who likes apple and the one who likes litchi. The one who faces the one who likes
litchi sits third to the left of N. Only two people sit between N and M. L faces Q. The one who likes orange sits to the immediate
right of Q. The one who likes Strawberry sits second to the left of the one who likes orange. P sits to the immediate left of the
one who likes guava. The one who likes kiwi sits to the immediate right of the one who likes banana. J does not like mango.

What is the position of M with respect to T?

A) M faces the one who sits to the immediate right of T.  B) M faces the one who sits second to the left of T.
C) M faces the one who sits second to the right of T. */D) M faces the one who sits third to right of T.
E) M faces the one who sits to the immediate left of T.

Explanation:-
Guava Litchi Orange Apple Strawberry
S P R Q T
K M J L N
Mango Banana Kiwi Cherry Pineapple

M faces the one who sits third to the right of T
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 66

Ten people are sitting in two parallel rows containing five people each, in such a way that there is equal distance between each
adjacent persons. In row-1 J, K, L, M and N are seated and all of them are facing north. In row-2 P, Q, R, S and T are seated and
all of them are facing south. Each of them likes a different fruit namely, Banana, Orange, Guava, Pineapple, Kiwi, Cherry, Mango,
Apple, Strawberry and Litchi but not necessarily in the same order. Therefore, in the given seating arrangement, each member
seated in a row faces another member of the other row and each of them likes a different fruit. (Please Note: All the given
information is not necessarily in the order) R sits second to the left of S. R does not sit at any of the extreme ends of the row.
The one who faces R sits to the immediate left of the one who likes Cherry. Only two people sit between the one who likes
Cherry and the one who likes Mango. The one who faces the one who likes Mango sits third to the right of the one who likes
Apple. Only one person sits between the one who likes apple and the one who likes litchi. The one who faces the one who likes
litchi sits third to the left of N. Only two people sit between N and M. L faces Q. The one who likes orange sits to the immediate
right of Q. The one who likes Strawberry sits second to the left of the one who likes orange. P sits to the immediate left of the
one who likes guava. The one who likes kiwi sits to the immediate right of the one who likes banana. J does not like mango.

What is the position of S with respect to Q?

A) Second to the left 4'13) Third to the right  C) Third to the left D) To the immediate right E) To the immediate left

Explanation:-
Guava Litchi Orange Apple Strawberry
S P R Q T
K M J L N
Mango Banana Kiwi Cherry Pineapple

S is sitting third to the right of Q
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 67

Ten people are sitting in two parallel rows containing five people each, in such a way that there is equal distance between each
adjacent persons. In row-1 J, K, L, M and N are seated and all of them are facing north. In row-2 P, Q, R, S and T are seated and
all of them are facing south. Each of them likes a different fruit namely, Banana, Orange, Guava, Pineapple, Kiwi, Cherry, Mango,
Apple, Strawberry and Litchi but not necessarily in the same order. Therefore, in the given seating arrangement, each member
seated in a row faces another member of the other row and each of them likes a different fruit. (Please Note: All the given
information is not necessarily in the order) R sits second to the left of S. R does not sit at any of the extreme ends of the row.
The one who faces R sits to the immediate left of the one who likes Cherry. Only two people sit between the one who likes
Cherry and the one who likes Mango. The one who faces the one who likes Mango sits third to the right of the one who likes
Apple. Only one person sits between the one who likes apple and the one who likes litchi. The one who faces the one who likes
litchi sits third to the left of N. Only two people sit between N and M. L faces Q. The one who likes orange sits to the immediate
right of Q. The one who likes Strawberry sits second to the left of the one who likes orange. P sits to the immediate left of the
one who likes guava. The one who likes kiwi sits to the immediate right of the one who likes banana. J does not like mango.

Four of the given five are alike in a certain way based on the given arrangement and hence form a group. Which of them does
not belong to that group?

{A) Orange-Kiwi  B) Strawberry-Banana C) Apple-Mango D) Litchi-Pineapple  E) Guava-Cherry

Explanation:-
Guava Litchi Orange Apple Strawberry
S P R Q T
K M J L N
Mango Banana Kiwi Cherry Pineapple

All except Orange-Kiwi are matched with third-next matched fruit.Orange-Kiwi are opposite to each other.
DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 68

Radha starts from point F, walks 6m to the north and reaches point E. She then takes a right turn and walks 5m. She again takes
a right turn, walks for 10m and reaches point G. She finally takes a right turn and walks 8m and stops at point D.

Medha, who is standing at point M which is 7m to the west of point F walks 7m towards south, takes a left turn and walks for
7m. She finally takes a left turn and after walking for 3.5m stops at point S.

In which direction is point G from point M?

A) South-west  B) East ~/C) South-east D) South E) North-east

From the given information we can make the following diagram.

E 5
6
10

M I

F

S
;

D : 4
35
-

Explanation:-
G is to the South-East of M.
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DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 69

Radha starts from point F, walks 6m to the north and reaches Point E. She then takes a right turn and walks 5m. She again takes
a right turn, walks for 10m and reaches point G. She finally takes a right turn and walks 8m and stops at point D.

Medha, who is standing at point M which is 7m to the west of point F walks 7m towards south, takes a left turn and walks for
7m. She finally takes a left turn and after walking for 3.5m stops at point S.

How far and in which direction is Medha's final position with respect to point F?

A) 5.5m towards north  B) 3.5m towards west C) 7m towards south D) 5m towards south */E) 3.5m towards south

From the given information we can make the following diagram.

E 5
6
10

M I

F

S
;

D - 4
35
-

Explanation:-

Medha is 3.5m South of F.
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 70

Seven stores, namely M, N, O, P, Q, R and S were launched on seven different days of the same week starting from Monday to
Sunday (but not necessarily in the same order). Each store was launched in a different locality namely-Aligan, Sodaala, Borivali,
Saket, Bamrauli, Velupur and Chembur (but not necessarily in the same order). Store P was launched on one of the days after
Friday. Only three stores were launched between P and the one launched in Saket. Only one store was launched between S and
the one launched in Saket. S was not launched on Friday. The store launched in Borivali was launched on the day immediately
after S was launched. Only two stores were launched between M and the one launched in Borivali. The store launched in Aliganj
was launched on one of the days before M. S was not launched in Aliganj. Q was launched in Bamrauli but not on Sunday. Only
three stores were launched between N and the one launched in Bamrauli. The store launched in Sodaala was launched on the
day immediately after the store in Chembur was launched. O was not launched on Monday.

In which of the following localities was R launched?

A) Sodaala  B) Chembur C) Velupur ¥D) Aliganj E) Other than those given as options

Explanation:-

Monday Tuesday Wednesday Thursday Friday Saturday Sunday
R M Q S @) P N

Aliganj Saket Bamrauli Velupur Borivali Chembur  Sodaala

R is located in Aliganj
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 71

Seven stores, namely M, N, O, P, Q, R and S were launched on seven different days of the same week starting from Monday to Sunday (but
not necessarily in the same order). Each store was launched in a different locality namely-Aligan, Sodaala, Borivali, Saket, Bamrauli,
Velupur and Chembur (but not necessarily in the same order). Store P was launched on one of the days after Friday. Only three stores were
launched between P and the one launched in Saket. Only one store was launched between S and the one launched in Saket. S was not
launched on Friday. The store launched in Borivali was launched on the day immediately after S was launched. Only two stores were
launched between M and the one launched in Borivali. The store launched in Aliganj was launched on one of the days before M. S was not
launched in Aliganj. Q was launched in Bamrauli but not on Sunday. Only three stores were launched between N and the one launched in
Bamrauli. The store launched in Sodaala was launched on the day immediately after the store in Chembur was launched. O was not
launched on Monday.

Four of the following five are alike in a certain way as per the given arrangement and hence form a group. Which of the
following does not belong to that group?

A) Tuesday- R B) Sunday- P \/EZ) Wednesday-O D) Monday- M E) Saturday- N

Explanation:-

Monday Tuesday Wednesday Thursday Friday Saturday Sunday
R M Q S @) P N

Aliganj Saket Bamrauli Velupur Borivali Chembur  Sodaala

Each one is matched with alternate day except Wednesday-O.

DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 72

Seven stores, namely M, N, O, P, Q, R and S were launched on seven different days of the same week starting from Monday to Sunday (but
not necessarily in the same order). Each store was launched in a different locality namely-Aligan, Sodaala, Borivali, Saket, Bamrauli,
Velupur and Chembur (but not necessarily in the same order). Store P was launched on one of the days after Friday. Only three stores were
launched between P and the one launched in Saket. Only one store was launched between S and the one launched in Saket. S was not
launched on Friday. The store launched in Borivali was launched on the day immediately after S was launched. Only two stores were
launched between M and the one launched in Borivali. The store launched in Aliganj was launched on one of the days before M. S was not
launched in Aliganj. Q was launched in Bamrauli but not on Sunday. Only three stores were launched between N and the one launched in
Bamrauli. The store launched in Sodaala was launched on the day immediately after the store in Chembur was launched. O was not
launched on Monday.

Which of the following combinations is correct as per the given arrangement?

A) Tuesday-N-Borivaii  B) Monday-N-Chembur  C) Saturday-Q-Bamrauli ~/D) Thursday-S-Velupur
E) None of the given options

Explanation:-

Monday Tuesday Wednesday Thursday Friday Saturday Sunday
R M Q S @) P N

Aliganj Saket Bamrauli Velupur Borivali Chembur  Sodaala

Thursday-S-Velupur is matched correctly.
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 73

Seven stores, namely M, N, O, P, Q, R and S were launched on seven different days of the same week starting from Monday to Sunday (but
not necessarily in the same order). Each store was launched in a different locality namely-Aligan, Sodaala, Borivali, Saket, Bamrauli,
Velupur and Chembur (but not necessarily in the same order). Store P was launched on one of the days after Friday. Only three stores were
launched between P and the one launched in Saket. Only one store was launched between S and the one launched in Saket. S was not
launched on Friday. The store launched in Borivali was launched on the day immediately after S was launched. Only two stores were
launched between M and the one launched in Borivali. The store launched in Aliganj was launched on one of the days before M. S was not
launched in Aliganj. Q was launched in Bamrauli but not on Sunday. Only three stores were launched between N and the one launched in
Bamrauli. The store launched in Sodaala was launched on the day immediately after the store in Chembur was launched. O was not
launched on Monday.

Which of the following pairs represent the stores which was launched immediately before and immediately after S?

ARN ¥B)QO COOR DNP EMQ

Explanation:-

Monday  Tuesday Wednesday Thursday Friday Saturday Sunday
R M Q S 0 P N

Aliganj Saket Bamrauli Velupur Borivali Chembur  Sodaala

Q and O are launched immediately before and after S.
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 74

Seven stores, namely M, N, O, P, Q, R and S were launched on seven different days of the same week starting from Monday to Sunday (but
not necessarily in the same order). Each store was launched in a different locality namely-Aligan, Sodaala, Borivali, Saket, Bamrauli,
Velupur and Chembur (but not necessarily in the same order). Store P was launched on one of the days after Friday. Only three stores were
launched between P and the one launched in Saket. Only one store was launched between S and the one launched in Saket. S was not
launched on Friday. The store launched in Borivali was launched on the day immediately after S was launched. Only two stores were
launched between M and the one launched in Borivali. The store launched in Aliganj was launched on one of the days before M. S was not
launched in Aliganj. Q was launched in Bamrauli but not on Sunday. Only three stores were launched between N and the one launched in
Bamrauli. The store launched in Sodaala was launched on the day immediately after the store in Chembur was launched. O was not
launched on Monday.

As per the given arrangement, N is related to Friday and Q. is related to Monday in a certain way. To which of the following is P
related to in the same way?

A) Sunday B) Saturday ~/C)Thursday D) Wednesday E) Tuesday

Explanation:-

Monday  Tuesday Wednesday Thursday Friday Saturday Sunday
R M Q S 0 P N

Aliganj Saket Bamrauli Velupur Borivali Chembur  Sodaala

Both are shifted two days before their original schedule, so P is related to Thursday.
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 75

Seven stores, namely M, N, O, P, Q, R and S were launched on seven different days of the same week starting from Monday to Sunday (but
not necessarily in the same order). Each store was launched in a different locality namely-Aligan, Sodaala, Borivali, Saket, Bamrauli,
Velupur and Chembur (but not necessarily in the same order). Store P was launched on one of the days after Friday. Only three stores were
launched between P and the one launched in Saket. Only one store was launched between S and the one launched in Saket. S was not
launched on Friday. The store launched in Borivali was launched on the day immediately after S was launched. Only two stores were
launched between M and the one launched in Borivali. The store launched in Aliganj was launched on one of the days before M. S was not
launched in Aliganj. Q was launched in Bamrauli but not on Sunday. Only three stores were launched between N and the one launched in
Bamrauli. The store launched in Sodaala was launched on the day immediately after the store in Chembur was launched. O was not
launched on Monday.

On which of the following days was N launched?

A) Friday B) Monday C) Thursday D) Tuesday /E) Sunday

Explanation:-

Monday  Tuesday Wednesday Thursday Friday Saturday Sunday
R M Q S 0 P N

Aliganj Saket Bamrauli Velupur Borivali Chembur  Sodaala

N is launched on Sunday

DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 76

Seven stores, namely M, N, O, P, Q, R and S were launched on seven different days of the same week starting from Monday to Sunday (but
not necessarily in the same order). Each store was launched in a different locality namely-Aligan, Sodaala, Borivali, Saket, Bamrauli,
Velupur and Chembur (but not necessarily in the same order). Store P was launched on one of the days after Friday. Only three stores were
launched between P and the one launched in Saket. Only one store was launched between S and the one launched in Saket. S was not
launched on Friday. The store launched in Borivali was launched on the day immediately after S was launched. Only two stores were
launched between M and the one launched in Borivali. The store launched in Aliganj was launched on one of the days before M. S was not
launched in Aliganj. Q was launched in Bamrauli but not on Sunday. Only three stores were launched between N and the one launched in
Bamrauli. The store launched in Sodaala was launched on the day immediately after the store in Chembur was launched. O was not
launched on Monday.

Which of the given statements is TRUE as per the given arrangement?

A) R was launched on Wednesday B) S was launched in Chembur  C) Only two stores were launched after M
N/D) Only two stores were launched between P and Q E) None of the given statements is true

Explanation:-

Monday  Tuesday Wednesday Thursday Friday Saturday Sunday
R M Q S 0 P N

Aliganj Saket Bamrauli Velupur Borivali Chembur  Sodaala

Only two stores are launched between P and Q
DIRECTION for the question: Read the information given and answer the question that follows.

Question No. : 77

The HR managers of Company XYZ have been recruiting regularly from college D, however, since the past two years the
managers of the company have been very unhappy as although its students recruited from College D are very good at work,
most of them resign within six to seven months of employment for better salaries? Which of the following may be the
immediate course of action undertaken by the HR manager of company XYZ in order to deal with the situation?

YA)The pay package of recruits of college D should be inclusive of a percentage retention bonus which would be given to
employees only after completion of a year
B) College D must be blacklisted and no student must be recruited from the college
C) The management of college D must be informed of the situation and should be asked to talk to the students appearing
for the interview
D) The recruits of college D must be asked to sign a bond of minimum five years before being employed
E) The students of college D should be asked during the interview if they intend to stay with the company for a long time

Explanation:- In this case, HR should think about the retention of employees rather than the consequences, hence option 1
should be the answer.
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DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 78
If D is the brother of V, G is the father of V. S is married to G and P is father of S, then how is D related to P?

A) Brother B) Grandfather /C) Grandson D) Nephew E) Cannot be determined

p-
G 5

¥

DV

Explanation:-

D is grandson of P

DIRECTION for the question: Read the information given and answer the question that follows.

Question No. : 79

Bank B in country Z had launched a scheme named 'Sona Vridhi' in which customers can deposit gold with the bank and earn
an interest rate higher than the other banks. However the scheme failed badly. Which of the following statements can be a
reason for the failure of the scheme launched by Bank B?

A) The scheme has a lock-in period of one to three years and the interest can be redeemed in the form of either gold or cash
¥B) The minimum weight of pure gold to be deposited in 'Sona Vridhi' is 500 grams worth Rs. 10 lacs with no upper limit
C) The tax levied on interest received from the gold deposits in the scheme is lower as compared to other deposits
D) 'Sona Vridhi' allow individuals to use the deposit in the scheme as a collateral security against loans
E) Unlike similar gold schemes of other banks 'Sona Vridhi' accepts gold jewellery as a deposit along with gold bars and
biscuits

Explanation:- Option 2 gives a limitation to the scheme wherein people belonging to a financially sound family could invest. It
cannot be of use to the section of people with lower income. Therefore, it would have failed.

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 80

In a certain code language,

‘new series launching soon' is coded as 'tk nh mp er’
'launching fresh adventure series' is coded as 'er lo nh wi'
‘rebuilt status coming soon' is coded as 'bj yu tk fg'
‘coming with fresh results' is coded as 'fg wi yu da’

(All codes are two letter codes only)

What is the code for 'new’ in the given code language?

A)tk Byyu YO mp D)fg E)da

Explanation:- 'new series launching soon' is coded as 'tk nh mp er’
‘launching fresh adventure series' is coded as 'er lo nh wi'

'rebuilt status coming soon' is coded as 'bj yu tk fg'

‘coming with fresh results' is coded as 'fg wi yu da'

Launching, series- nh, er
Soon- tk

Coming- yu

Fresh- wi

Now we know in the first sentence the code for series launching soon, so code for ‘new’ is ‘mp’
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DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 81

In a certain code language,

‘new series launching soon' is coded as 'tk nh mp er’
'launching fresh adventure series' is coded as 'er lo nh wi'
‘rebuilt status coming soon' is coded as 'bj yu tk fg'
‘coming with fresh results' is coded as 'fg wi yu da'

(All codes are two letter codes only)

In the given code language, if 'results status declared' is coded as bj xq fg', then what will be the code for 'declared fresh
coming' in the given code language?

A)wiyulo B)erloxq ¥0) xqyuwi D)bjwier E)yuxqbj

Explanation:- ‘'new series launching soon' is coded as 'tk nh mp er’
‘launching fresh adventure series' is coded as 'er lo nh wi'

'rebuilt status coming soon' is coded as 'bj yu tk fg'

‘coming with fresh results' is coded as 'fg wi yu da'

Launching, series- nh, er

Soon- tk

Coming- yu

Fresh- wi

‘Results status declared’ = bj xq fg

So the code of results is fg and of status is bj. Hence the code for declared is xq.

Now the code for ‘declared fresh coming’ is- xq yu wi

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 82

In a certain code language,

‘new series launching soon' is coded as 'tk nh mp er’
'launching fresh adventure series' is coded as 'er lo nh wi'
'rebuilt status coming soon' is coded as 'bj yu tk fg'
‘coming with fresh results' is coded as 'fg wi yu da’

(All codes are two letter codes only)

What will be the code for 'adventure' in the given code language?

A)wi B)er ~/EZ) lo D)yu E) Other than those given as options

Explanation:- 'new series launching soon' is coded as 'tk nh mp er’
'launching fresh adventure series' is coded as 'er lo nh wi'

'rebuilt status coming soon' is coded as 'bj yu tk fg'

‘coming with fresh results' is coded as 'fg wi yu da'

Launching, series- nh, er
Soon- tk

Coming- yu

Fresh- wi

In the second sentence, 'launching fresh adventure series' is coded as 'er lo nh wi'
We know the code for launching series fresh, so code for adventure is, ‘lo’
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DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 83

In a certain code language,

‘new series launching soon' is coded as 'tk nh mp er’
'launching fresh adventure series' is coded as 'er lo nh wi'
‘rebuilt status coming soon' is coded as 'bj yu tk fg'
‘coming with fresh results' is coded as 'fg wi yu da'

(All codes are two letter codes only)

What may be the possible code for 'soon with lyrics' in the given code language?

A) mp er bj ¥B) tk vs fg Cvsdamp D)fgdatk E)witkvs

Explanation:- 'new series launching soon' is coded as 'tk nh mp er’
'launching fresh adventure series' is coded as 'er lo nh wi'

'rebuilt status coming soon' is coded as 'bj yu tk fg'

‘coming with fresh results' is coded as 'fg wi yu da'

Launching, series- mh, er

Soon- tk

Coming- yu

Fresh- wi

The code of 'with'is fg or da.

By matching the codes, we get code for ‘soon with lyrics’ as 'tk vs fg’

DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 84

In a certain code language,

‘new series launching soon' is coded as 'tk nh mp er’
'launching fresh adventure series' is coded as 'er lo nh wi'
'rebuilt status coming soon' is coded as 'bj yu tk fg'
‘coming with fresh results' is coded as 'fg wi yu da’

(All codes are two letter codes only)

What does the code 'nh' stand for in the given code language?

A) either 'fresh’ or 'status' ~/B) either 'series’ or 'launching’ C) adventure D) Soon E) New

Explanation:- 'new series launching soon'is coded as 'tk nh mp er’
'launching fresh adventure series' is coded as 'er lo nh wi'

'rebuilt status coming soon' is coded as 'bj yu tk fg'

‘coming with fresh results' is coded as 'fg wi yu da'

Launching, series- nh, er
Soon- tk

Coming- yu

Fresh- wi

So nh stands for either ‘series’ or ‘launching’.
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DIRECTIONS for the question: Solve the following question and mark the best possible option.

Question No. : 85

If S is married to J, M is the mother of J and K, K is the only daughter of Y and H is the only child of S, then which of the
following statements is not definitely true?

\/A) H is the grandson of Y B)Jisthesonof M C)K s the auntof H D) M is the wife of Y
E) Y is the father-in-law of S

From the given information we can make the following diagram.

M () Y (m)

R | § Re— Y K ()

Explanation:- H

H can be male or female, it is not specified

DIRECTION for the question: Read the information given and answer the question that follows.

Question No. : 86

'The variety of faux leather items sold these days have snatched our market. Despite longer durability of real leather, people
these days are settling for faux leather only because of their prices and colour options" - statement by the owner of a leather-
items showroom.

Which of the following can be inferred from the owner's statement? (An inference is something by which you can logically
deduce something to be true based on known premises.)

vA) Durability is the least important factor that affects the choice of customers while buying leather items

B) Just lowering the price of real leather by some percentage will attract more customers

C) Incorporating novel contrast combinations of economic prices will help the market of real leather to revive
D) The manufacturing cost of real leather and faux leather is more or less same

E) The texture of faux leather is exactly same as that of real leather

Explanation:- It is evident from the owner's statement that only two areas have been impacting the sales of leather i.e. price and
colour options. Also the durability of leather is not able to retain customer.

Thus option 3, 4 and 5 are rejected. In option 2 it strictly talks of price whereas colour options is also a consideration factor.
Therefore option 1 is best answer.

DIRECTION for the question: Read the information given and answer the question that follows.

Question No. : 87

'‘Paramount Consultants' have gradually evolved to complete online functioning as compared to the manual functioning 10
years ago. Owing to the same, the HR manager of the company has requested the Chairman to allot atleast half the space of
the printing press in the basement of the building to set up a customer care centre. Which of the following best supports the
Manger's plea to the Chairman?

A) Customer Care centre is in highest use only during the peak recruitment season, thus allotting a separate floor to it would

be unnecessary blocking of space
¥B)Earlier the portals were provided in printed format only and sent to the companies in hard copies, but now they are sent
only through e-mails and their dispatch/receipt is coordinate telephonically or electronically

C) All the staff members working in the printing press have bigger cubicles than other staff members

D) All the departments of the company have been renovated atleast once in the past ten years with the exception of the
printing press

E) '100 Dresses', an online apparel store has its head office just next to 'Paramount Consultants'. Since'100 Dresses' has set
up an online customer grievance and retrieval of sales have increased by 20%

Explanation:- Only option 2 gives a supportive statement for the mentioned statement as the statement talks of the company
going online, thus the answer option should support the idea of online functioning.

Option 1 talks office space, Option 3 talks about bigger cubicle, Option 4 discusses renovation and option 5 presents the idea of
folowing someone elses path, which all are irrelevant to the statement provided and the idea of online functioning.
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DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 88

Nine people - P, Q, R, S, T, U, V, W and X live on nine different floors of a building but not necessarily in the same order. The
lowermost floor of the building is numbered one, the floor above that is numbered two and so on till the topmost floor is
numbered nine.

T lives on floor numbered seven. Only one person lives between T and X. Only three people live between X and Q. S lives on an
even numbered floor immediately above U. U does not live on the lowermost floor. P lives immediately below W. R lives on an
even numbered floor but not floor numbered six. Only three people live between R and V.

Four of the following five are alike in a certain way based on the given arrangement and hence form a group. Which of the
following does not belong to that group?

*ﬁ-\) PT B)VP QUX D)SR E)UQ

Explanation:-
9 W

oo

= N W~ U1 OO
O ™ Cc »n X < - ©

All except VP are the pairs which live in alternate floors
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 89

Nine people - P, Q, R, S, T, U, V, W and X live on nine different floors of a building but not necessarily in the same order. The
lowermost floor of the building is numbered one, the floor above that is numbered two and so on till the topmost floor is
numbered nine.

T lives on floor numbered seven. Only one person lives between T and X. Only three people live between X and Q. S lives on an
even numbered floor immediately above U. U does not live on the lowermost floor. P lives immediately below W. R lives on an
even numbered floor but not floor numbered six. Only three people live between R and V.

Which of the following statements I true regarding V?

\/A) V lives on a floor immediately below T B) V lives on an odd numbered floor
C) V lives on a floor immediately above W D) Only three people live between V and P
E) None of the given statements is true

Explanation:-
9 W

(o]

= N W~ U1 OO
O ™ Cc »n X < —-H ©

V lives on floor inmediately below T



e

(,,;. Eﬂlls Eye Actual MH-CET 2016

thullsaye.com

DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 90

Nine people - P, Q, R, S, T, U, V, W and X live on nine different floors of a building but not necessarily in the same order. The
lowermost floor of the building is numbered one, the floor above that is numbered two and so on till the topmost floor is
numbered nine.

T lives on floor numbered seven. Only one person lives between T and X. Only three people live between X and Q. S lives on an
even numbered floor immediately above U. U does not live on the lowermost floor. P lives immediately below W. R lives on an
even numbered floor but not floor numbered six. Only three people live between R and V.

Who amongst the following lives on a floor immediately above as well as immediately below X?

A)P,S B)UV YOV, S DRU EWR

Explanation:-
9 W

oo

= N WD U1
O ™ C »n X < 4 ©

V, S live immediately below and above X
DIRECTIONS for the question: Read the information given below and answer the question that follows.

Question No. : 91

